
Candidates should have an understanding of:

•	 How to prepare a statement of profit or loss and a statement of financial position for a sole 
trader from incomplete accounting records. The business may be a trading or a service 
business

•	 Small cash-based organisations, such as grocers and vendors 
keep incomplete records of their transactions. It’s because there 
is no statutory requirement for such businesses to maintain a full 
set of accounting records.

	◦ However, they have to determine the profit or loss for the year and the 

financial position of the business at the end of the year.
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•	 The profit or loss for the year of small cash-based businesses 
is derived from the capital section of the statement of financial 
position. It is calculated by comparing the net assets (capital) at 
the beginning of the year with the net assets at the end of the 
year.

	◦ Sometimes, the proprietor may take out the cash or goods for private 
use from the business, these withdrawals of the owner are considered as 
drawings and added to the retained profits.

•	 A statement of affairs is a list of assets, capital, and liabilities 
prepared without using double-entry records. It looks similar to 
the statement of financial position but the only difference is that 
the capital is a balancing figure in the statement of affairs.



	◦ An opening statement of affairs lists all the assets, capital and liabilities 
at the beginning of the relevant accounting period. The difference 
between the two sides or the balancing figure is opening capital.

	◦ A closing statement of affairs lists all the assets, capital and liabilities at 
the end of the relevant accounting period. The difference between the 
two sides or the balancing figure is closing capital.

•	 Generally, there are five stages in the preparation of the 
statement of profit or loss and the statement of financial position 
of a sole proprietorship from incomplete accounting records.

•	 All the debit items and credit items are listed in the format of the 
sales ledger control account and the balancing figure would be 
the amount of total credit sales. After calculating the total credit 
sales, we add the total cash sales and credit sales to calculate the 
total sales.



•	 The purchases ledger control account is constructed by listing all 
the debit items and credit items to calculate the amount of total 
credit purchases. After calculating the total credit purchases, we 
add the total cash purchases and credit purchases to calculate 
the total purchases.

•	 Markup is the profit percentage applied to the cost of sales. It is 
calculated by dividing gross profit by the cost of sales and then 
multiplying it by 100. 

•	 Margin is the profit percentage applied to sales. It is calculated by 
dividing gross profit by sales and then multiplying it by 100.



Here’s an example of an examination question on this topic:

Rikesh had an opening capital of $40 000. He withdrew $12 000 as drawings 
during the year, and his net assets were $80 000 at the end of the year, which 
resulted in a bank overdraft of $28 000.

	 What was the profit during the first year?

a.	 $68 000

b.	 $62 000

c.	 $40 000 

d.	 $52 000									       

Answer: D

The profit or loss for the year is derived by considering the change in net assets 
and the drawings during the year. The change in net assets is 40 000 dollars, 
and the drawings are 12 000 dollars, which totals the profit for the year of 		
52 000 dollars. Therefore, the answer is D.
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